AT FACBIE (U PIHG 055

1. M—q CWW Y
(A) 21 %6

(B) 21 &7

(€) 23 GTLsbwa

(D) 22 o

"R HEHIER" T A )
(A) 21 9=

(B) 21911

(C) 23 {eray

(D) 22 fedmr

2. A % C-99 2RI D 29 B9 %7 E 27

A-£3 S8 TW C, D93 @M 70 | ez B-93 7w
E-7 &) 7o 2

{;A)Eﬂ
(B) (O
(C) ==l
4P EF
ﬁﬂ'ﬁICTﬁIEﬂﬂllDﬂﬁiBﬂ-ﬁ@ML

E WAl A FI W 138 C, D 1 fadt wyu ) =it wg
B1E & & ¥ T?

(A) ¥TE

(B) ¥y
(C) T
(D) =feEAt

3. awgq e 4000 TR T wo, ANy

] 3201 FeEEg Rem < | o e 99
e 2

SA) 20%
(B) 15%
(C) 30%
(D) 25%

I AR 400 9 FIeT g ST e St
THEE 320 92 Feool el SHAT 5 | IHel i

| W (%) T HHEIT?

(A) 20%
(B) 15%
(C) 30%
(D) 25%

www.kolom.In
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4. a7 B A5fH0s SR 9T 2
(A) =IIE=
AB) @ten
(C) FT5w
(D) iz

TH 3113 Ygfam arqurn g7 e fema?
(A) UrEF

(B) wafim

(C) fa=a

(D) =

S. Whowrote ‘The Hound of the Baskervilles"?
(A) John Keats

(B) Arthur Conan Doyle
(C) Anna Swell
(D) O. Henry

6. %15 vk Aaf 13 93: Riwsre 3 27 2w
R Fw2

M E
(B) 11
(€ 6
(D) 7
IfE F ¥ T A 13 W S e
3 W | el T 5 w7
(A) 8
(B) 11
€ 6
(D) 7

7. G TRl e oo Al e
(A) 67
(B) 8715
(€) 10 FErr
(D) 6 =%
wreva AR fTad 5 i 7ee?
(A) 6th <[
(B) 8ih W=
(C) 10th fedm=r
(D) 6th 3FTE
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8. Which one of the following words Is
correctly spelt?
(A) Qu
(B) Quey
(C) Qucue
(D) Que

9. Srared I oF W ferw BT (e
(A) g A e
M) ffem zteme
(C) oot A1
(D) *&= AT
R gan 9% 7% Teths W% = g7
(A) TeTER fae gem
(B) fafi w=m
(C) 3% T
(D) Yo TH=n

10. Fill in the blank with appropriate word or
preposition.
Rahul is addicted
(A) to
(B) with
(C) of
(D) on

@ sin2 A+cos2A="7

(A) 3
(B) 4

0 1

(D) 2

gambling.

12. Out of the alternative suggested, select the

one which best expresses the sentence in indirect
speech.

He asked me, “What are you doj ng?"
(A) He asked about my activiljes,
(B) He asked me what I am doing.

AC) He asked me what I was doing,
(D) He asked me what | did.

(4)

\ﬂaﬁ" ﬁg.'am 12 Em

ﬁgummﬁ siAte IeErT 36'ﬂa{ﬁ|
13. 90 el sy

4
2

LCM&ﬁHCFS&QﬁGW

A 18
(B) 15
(C) 24
(D) 20

o AT

s g R 12 9 TR TS

(A) 18
(B) 15
(C) 24
(D) 20

Choose the correct proverb,
(A) Better fate comes never.
(B) Better late than ever.
(C) Better late then never.
(D) Better late than never,

14.

15. 9% 54 7 @t 93l Ga 270 fvm o
oTe Sz FF 30 G0 | GAGR tnd) o

(A) 150 fiiBra }5% e

(B) 100 fior= 4§u
(C) 200 iR ar
D) 180 fabr= X %

e T3A e 54 km/hour @ Tiam
270 T = gE1 30 sec ™ UR TH 9FD ¥ &
TETTErel T8 hid 7

(A) 150 fa=

(B) 100 figex

(C) 200 fia=x

(D) 180 fiex

16. Out of the alternative suggested, select the
one which best expresses the sentence in indirect
speech.

The girl said, “I am very busy now"
(A) The girl told she is busy then.

) The girl said that she was very busy
then.

(C) The girl said that she is very busy now:
(D) The girl is busy now.
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17, A AR Hyspg - e
i 21 9 (0 18 Ae3 371 2oy oSibifaas
(A) 3027

(B) 58wy

’{CJ 61 T

(D) 60T

T HANTTE Heihy 3

21 S 1S gy T S
. (A) 59 th

(B) 58th

(C) 61 st

(D) 60 th

18. Whichword means same as s
(A) Funky
(B) Brusque
(C) Gentle
(D) Genteel

ophisticated"9

19. UNICEF-99 377 %otz oo
(A) == gl
B) e T
(C) T
(D) Frtepa
UNICEF 1 =5 58 57
(A) =it
(B) Fadgst
(C) =&

(D) Fagmq

20. P, Q@7 ¥tz A% BFw R-<3 (U T |
S, P93 (2% (475 &g R-a7 (= o771 42 U, Q-
QF ({75 5% P97 (40 o791 | @ T @ e

(A) Q B

(C) §

4D) R

P,Q VI N TR R 4= AEN B, S, P vl
T 8 T R =1 376t B 31 U, Q 1 811 9
P 4 I © | E YU a6 2

(A) Q

(B) P

(C) S : '

(D) R . S

RB/CN(F)/2019

21. Choose the correct proverh,
(A) Emply vessels make most noise.
(B) Empty vessels make no noise.
(C) Empty vessels take oul noise,
(D) Empty vessels make must noise.

22. Tepa Al e e wEAEICodd) ¢

(A) ASIA

(B) AUSTRALIA

(C) AFRICA
/E'D} ALASKA
ﬁ‘ﬂﬁ:@gﬂaﬂ%m(ndd)ﬁl?
(A) ASIA

(B) AUSTRALIA

(C) AFRICA

(D) ALASKA

23. Which word is opposite of “rogue™?
(A) Rascal
(B) Crooked
(C) Scerupulous
(D) Scoundrel

24. QT FARAre Werem o3l e @ 30

A, 376 @l Fle \7"

}J\} 1200

(B) 1357
(C) 100°
(D) 110°
TR Sy (equal angle) isosceles
triangle 30° WY FH=T gen @ (angle) =fd =57
(A) 1207
(B) 135°
(C) 100°
(D) 110°

25. AR ‘o wens’ TACE (A FAE
[Armme

(A) 115! ez 12751

(B) 1171 c=iez 1%

(C) 125 (w= 3G

D) 127 (2% 1 T

T S S V=T G T g7
(A) N=ndf@ 1298 ol (11

B) 11T f@=s "

(C) 12seRE3TH

(D) 1299 | =t

[Please Turn Over)
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26. A @ B4 o SFsine 3 : 4| Sl S5
TEATE 2 ¢ 3| ArEres 2000149 e FAE, A € B-92

WA TG ¢
,_:_7_6"0 ‘f}
_AA) 600, 800 R+ L0 KL
(B) S00. 700 N =
oo, 1765 4\ t ,:(,rﬂ
(C) 900. 120 ant b £
(D) 300, 400 "5:"1

b
. 5 EA T’ m
A 1B I 3WHSHH (income) (ratio)

3:4 9| foiees TR M 2: 3 DI1AC A T8
Weldael Rs. 200 TR 790 T FHeeHl AT & 57
(A) 600, 800
(B) 500, 700
(C) 900, 1200
(D) 300, 400

27. S ey e g e
(A) TAT=TeH
(B) #wdfw
(C) =T
AB) s

STETR T U faerm
(A) WEFEg

(B) "er¥ faamfag

(C) wviiTswTTas

(D) ivfag

28. @=l e Ry s i g fg
FerE Bar «1f e | e weE AR 100 g9t
TR M1 290 | G el By «1f} @z e

1

AA) 55 ) 229
® a5 o A" 2,\ ~ a0
©) 75 xo” s
oo AT o

R
W fateerm #fien fimes ot gues

TR W TR T e 100 Y gmees
HEA 290 N1 = fafgarren Feme wmn gur w2
(A) 55
(B) 45
(C) 75
(D) 65

)

29, Msz oW foafe Currency, Rupee @
Dollar-43 Wy F=of& Zlele 0 7

- (3
0 03

e fewa %9 991 Currency, Rupee if5
Dollar ! w09k 2139?

58
o (e

30. Which one of the following words is
correctly spelt?

(A) Assasination
(B) Asacination
(C) Assatination

(D) Assassination (FpPE

r
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- i RB/CN(F)/2019
o Vg
3l 1615 (LT % T 20 | SR 20 G310 T 35, *[IrE oA FF KN A NN
w1 | P TR 5T A 2 A GG T | T 1E N X
a T4 T RSN \“ \ 4 i fh‘ '(O N
(A) 52983 (2 ’ % v ) P \a",’/ {J(\
B) 4T v w'% s 51 v a7 &\
_ Hap Vo N v %

(C) 14723 \"‘\.; d 495 & vy

(D) 37 923 {ﬁi I \H{V\/

16 1 FETEEH T (Average) I 20 7Y () 604 \ 4
E;mﬂmlﬂwmqﬁiﬁlmﬁmﬂ (D) 591 .y ./"J/
g;%vggge}mlﬂﬂﬁmﬂﬁlﬁmm mmq@m%ﬂmﬁ? Kq,\_j}{

(A) S2ad % 0

(B) 54 =1 q;’al A R

(C) 1474 £

(D) 37 =4

5
32, 72f Bushfire Crisis GFYm Whrg? Eﬂ‘} ;32

(A) Denmark (CY 604

(B) Indin (D) 591

(£} Atghan'stay 36. (@R (AR 2EEEE) 2019 FiA «ifYE @

(D) Australia (=7 71 % 9

vt 1 91 Bushfire Crisis =271 s 7 (A) W

(A) Denmark (B) o™

(B) India (C)

(C) Afghanistan ) Zferafem

(D) Australia & SR WHFHETETS 2019 = AEe wmi=

‘ TUERR Wer i ?
33. Which one of the following words is (A) wfe
correctly spelt? (B) =18

(A) Renovation (C) A

(B) Reinnovasion (D) Ifaeifen

(C) Rinovation 37. @<l #uare fogrem wet g 7@ freem

(D) Renovetion CFaTge Fo ¢ - 1)-;,

A) 23 S
34, (&R 2 IRE WA EB; \g "f{’ (‘
AR) (EETH © 6

(B) == sife s Dy 5

(€) 7 DS _

(D) Tx7a® T3d equilateral triangle F1T9E Jg MUEH

o o1 o TR ) §7 triangle I &% FHA §O?

(A) Toeen o (A) 243 v

(B) foreen qfer aifiars (B) 3 0

(C) T=3uI ©) 6

(D) HE&aT=1 A (O D) 5

[Please Turn Over]
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38. F_i]l in the blank with appropriate word or
preposition.
Ostrich prefer running flying.
(A) for
(B) against
(C) 10

(D) of

39. (I+%)(|+%)(|+H......[1+H_'B _9

(A) 445 ¥,
(B) 45

82
(C) ]9
(D) 44

40. I 2@ =fewrE e
(A) wfz#ie
(B) et
C) (Mot
(D) ORI
151 ST WaH Ee e 17
(A) AfeTT=
(B) MHUTE
(C) et
(D) =&IE

41. AT 2 < IR
EBC, TFG. OJK, ?

(A) MTC __g,..j;"

(B) UMN w)g
(C) DPQ 11’\\ :

(D) PSX ey

W o U ) & §9? /ﬁ >
EBC, IFG, OIK, ? sy &7

(A) MTC E.HE"_LF':‘U O-J'L
(B) UMN S

(C) DPQ

(D) PSX

(8)

42, 20 f&ora ¢ @ Grara e 10% &= upy
wpare 2 faee 79 [Fhm @ G EAR gy
A 25%

(A) 4 Fom@

(B) 2 f#om@

(C) 8 f&om

(D) 6 f=5m

Iz 20 ltrs THTTZHER faA0m 10% Ty
et Feret Wil wreer @ fasTe T percentage
25% T?

(A) 4 Iirs

(B) 2 lurs

(C) 8 Iirs

(D) 6 Itrs

43, cnfram e @ ATErs Twser

(A) Taop
(B) S
(C) w7

AD) G
TfEm Y= 23 T TaH 57
(A) T
(B) TMEHT0E

(C) R

(D) ey

44, TS 12% 797 7o 2E T I3 I
fi@ =i =ef fae 212 &5

(A) 7922 6 3% ,ﬁ_ﬁd_;_g,g__

(B) 6 <=& v aP _.;';f’___

(C) B2=d 657 2
_(D) 833 4

126 simple interest ¥ feamam wa F4

Fafram i wia =1 = (double) 97
(A) 73 648
(B) 6= 9H™
(C) 84 699 ‘
(D) 8 = 4 AW i
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(9)
45, «=ft B coms FLOWER'-42 (G 77 \,ﬁiﬁﬂmﬁdﬁtﬂmﬁ?ﬂlﬂﬁﬂllziﬂ
\WOLDVI'. TR O3 @13 F‘h‘IR.IF\’ 7 r,iqmg @1 15 foe 7 D S F A
(A) 1560 5
F7Ar PP
BY 14580
(B) ELQIEU (D) 1638 5
€) UNIQUE afz 25 w1 "R 4 fETA Rs, 810 FA1G,
(D) TMGPTO 12 5/ B2 15 ﬁwa'fﬂﬂ?mﬂ'ﬂﬁ: A
54 F1Z YT “FLOWER' @74 “UOLDVI (A) Rs. 1560 (T5 40 (
a0 A, T wEE EMRIFV' ¥ % Sfas? AB) Ra. 1438 e A RS
EUO (C) Rs. 1700 I 3
e oW E (D) Rs. 1638 RN .
® ELQEy Loy Ak g% ?;g
C) UNI b
:D; - é’j';’r‘fj - 51} Google-«a b7 «fifede wimmaa wis
\ )
(A) =5t ZeTE \g:,_:,
46. Choose the correct proverh, (B) =] A=l /

(A) Barking dogs seldom bite., (C) Tm 7% . 1 k>

(B) Barking dogs always bire. A8y w4 (5% R Vg 5 °

(C) Lurking dogs always cry. Google F Tﬁimﬁf&ﬂ (CEO)

(D) Barking dogs bite at night. A F A7

(A) Hiﬂ?‘frﬂﬂ D,gn o ('
47, GAITERR (Megasthenes) af5e 2R (Indica) Eg; bl ?ﬂ[ Kﬁ
n 45%< ! AU
oY (AT (T A 2T wiw A e (D) Tt ﬁ
(A) 18
(B) #F1
crf 51. Choose the correct proverb.
A (A) A stitch in time saves nine.

(D) D17 ) (B) A stitch in time saves fine.

HAfeTTEe (Megasthenes) el 'sives’ (C) A stitch in time saves [ive. 3
(Indica) = The] T WRAE Teiawis faam (D) A stitch in lime saves ten, } \K
T 27 \L 2 gpe* Jj; A ’gf

—_—

(A) T 52. e sifm = em e <

(B) W& (A) o= =BG L

(C) e (B) = =5 = 4’5@'

(D) e (C) Tt (l—f/

(D) A= Trarefepa
H:E; Which is the correct one for “an afternoon i wrir o T SEE A7
P (A) T wgraTd -

(A) Doze T , -

(B) Catnap (B) L AT

(C) Slumber (C) el S

(D) Siesta (D) ¥ qEmAy

[Please Turn Over]
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SV R R qrw e 0% famns wam §7. Which on¢ of the following words 4
ﬁﬂﬂ"rﬁ N zEy CUITI:C[I:I' ,l.'pt:“'.' i
AN 500 \) Independence
(B) 400 (B) Independance
(€) 200 (C) Indipandence
(D) 600 (D) Independense
IS F T2 40 Tenmfe ufonm 300
T =R #fa 71 w7 e
(A) 500 .
(B) 400 58, A *{37 (IR A T AL
(C) 200 ) G - AT
(D) 600 (B) @iZRE - AtEHq
(C) g - Elﬂiﬁ
54. Choose the correct proverh, (D) = - gl 1
(A) Ends well is all. 4 T IS 9T Fiecl @7
(B) All's well that ends well. (A) AR
(C) 'I'Iu:_cnd is well. (B) TR
(D) Allis well that end in a well. (C) qj::_zgw_né
(D) WE-e :
55. A 9T B-9% 9¥um R oW S5 9d| Vo
10 228 W5 1074 200 TS 77 4 31 A g2 4]’/
B-42 TE1w a9 gw 7 - 5
(A) 40,25 LA 59, STl ZIE F @2
(B) 24,31 A - 2,9,28, 7 %=
5(%. V .9, 28, gbT
(©) 32,23 A = s (A) 38 AE?’ ood
) 25,30 ? \ (B) 29 2 \ 2% (
A B 1 S I STER 55 79§91 10 T 40) 65 nt .-
mﬁxmwaﬂqﬁ(rmiu}m}fm‘rm? (D) 46 2%
B #) FHM I T g7 «5}7° wv fo v T & 5
(A) 40,25 ot 3 - 5 2,9,28,7
(B) 24,31 4 - (A) 38 ot 7 g
(C) 32,23 ™ (B) 29 A% =
4D) 25,30 a = < (C) 65 (a ,}11-*
\ (D) 46 5
2% 9 7 51.'.,"[‘
56. fA. @, 217 #fa g ey (2o a4 137
AA) T d 77 %9 26
(B) T=mabm 4% -
(C) CZ5® FEms] 60. Fill in the blank with appropriate word or
(D) =B A preposition.
froudo T FA sAfEH FA A o We shall discuss the matter a
(A) TEfaEr g : P °f;'f]' "
(B) JHm== g _(B) before
(C) F= FTEN (©) with
(D) HEIZATY FHIC (D) over »
|
i Y —r~ waaarkalom.in. L
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6l. L??F@ T 25 fham =Y *You are
', SREWe are hyg' war :

oo ; e bud'ean'y 5 ggq

el ‘Good and bad’, €& 'y 'az e S

¥ [ - L B -lT:T ?( ¥

(A) 5 "

P

() 2

(D) 3

3-,4.\ aergwmm 256 % A ‘v ure

good’, 6 3 T A “Wearehad® 31fy 3 s 8 H

34 ‘Good and bad® YT *an' 5 maﬁﬁ]?

(A) S

©2 256 Y e v 3 b_gtﬁ

03 v WE yens
IS, B

62. IF_il! in the blank wit ippropriate word or
preposition,
The man was aceused
(A) by
(B) about
(C) of
(D) for

theft,

63, fae weRn 2o wdh, SfswaeE @m
SR A7
(A) TAviRafE
AB) 7
(C) ==
(D) #==m
feegm st a7 2 vfmw ame) <
feemmr= A= g7
(A) SIS
(B) FafEER
(C) T=E

(D) qEferm

6. T ‘47-9q my 0, lag Y
Y wd AR ka4 T, e
”}:'{51'-3—24-3:?

(A) 16

(B) 5

(C) 21

(D) 18

g wmad O, m A ), T oa
VA F Y, YT I0x553-2+3="

(A) 16

3
) 5 ;-3"'11-
SIS
£ 57
\D ' E#}

B e

RBICN(F)2019

: g .
65. (& (Canal) ofeirg (Pacific) @ HHATH
VETH| A0 RO AT
AA) #IRn =E
(R s <1E
(C) Twa 7% &
(D) FHifem =
A TR (Canal) FO T (Pacific) 1
STeenf= weEmnrens e 7
(A) I T8
(B) FIH T
(C) =¥ A1 T/
(D) w=1feF T8

66. U35+ 4R =40,23+34=24,25+24=26
WU 14421 =7
(A) 18
{3y 20
(C) 15
(D) 16
7z 35 + 48 = 40, 23 + 34 = 24 M

254 24 =26, WU 14 + 21 = %fa §0? Y
(A) 18 fs
(B) 20 \ ",
(C) 15 L}/ ;T%
(D) 16 5—;}-

A
67. ISROT G @t 40
/PA) e, ﬁ'.?fﬂ \'{
o

(B) &= fFrng

(C) == s
(D) < c%. w5y

ISRO %1 =4I &) §7?
(A) o fAavyH

(B) fa=m fog

(C) mefufam e
(D) Te Fo WET=

68. J5+\(11+\119+J29+JE
(A) 2 - "'{pm
[B} 1 i [ e T !
(C) 6 | |
o

P
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69. Who wrote “The Strange Case of Dr. Jekyll
and Mr. Hyde™?
Ay Howard Pyle
(B Nk Twain
(C) Raobert Louis Sievenson
(D) Mary Shelly

70. TymFEER HdED FrEEmeET Afewd s
(A) 35%
(B) 40%
(C) 5%
(D} 30%
FETEan FE e Fefaan wa wfm
=’
(A} 35%
(B) 40%
(C) 45%
(D) 30%

73. wjrar=a 7T fEanz fad (ST T R
24 G | {EHA WA T

AR 16 w2 N =24
(1) 14 224
(Cy 24 3}1‘ _ 9
(D) 20 =

A 3 faprore 3 = T (double)
o g gaw i SEe 24 T o A, U IR ER
T

(A) 16

(B) 14

(C) 24

(D) 20

74, oo @1 P 99 (60" st TofEm e
(A) €3
_AR) Yrew amés
(C) Fref
(D) = =ird

7¥m “Pink Ball Test Cricket’ @1 Qe
forzn?

71, S A T TAAT (B)
-.2._;_._,1,6. ? (C)
(A) 7' (D) i TR
AB) 0
(C) 11 75, Which word is opposite of “plenty”?
(D) 9 (A) Insufficient
WA 9= o = & g (B) Many
4,15 16" (C) Abundant
(A) 7 (D) Huge
{B) 0
(©) é‘ 76. 2019wz ¢ forw @F AREW AFer
©) BT T TS ?
(A) B
_AB) ZeT
72. Out of the altemative suggested, select the (©) T
one which best expresses the sentence in indirect
speech, (D) feeh
Virat said, "Ravi arrived on Monday” 2019 T = 9TY=H Serh WEE T
(A) Viratsuid that Raviarrives on Monday. clone) FE fardi?
) Virat said that Ravi will amive on | T 31 400 (Cyclone)
*Monday. (A) &
(C) Virat says that Ravi is ammiving on (B) Ferga
Moenday. - C
(D) Virat said that Ravi had arrived on (€) &S
Monday. (D) faaet h
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77. Which word means same as “refurbish™?
(A) Destroy
(B) Construct
(C) Revamp
(D) Fabricale

78, W 0o AR wHtefan 7 o @A e
st 1078 1R T 2 e A ey
(A) 205 =
(B) 21 oifar
(C) 16GM
(D) 18 c=fw

7cmaﬁmrnawamm?ssq.cm%m

MEFR H radius ¥ T?
(A) 205 em
(B) 21 em 7
(C) 16cm
(D) 18em

79. Which one of the following words is
correctly spelt?

(A) Messege
A8) Message
(C) Mesage
(D) Masage

80. TAWA (odd) 301 BEw T |

) 98-

(B) 712 -

(C) 120

(D) 108

fate® (odd) wem fafea m

(A) 98

(B) 72

(C) 120

(D) 108

(13)

RB/CN(F)2019

81. Fill in the hlank with appropriate word or
preposition,
David lives the bus-stand.
(A) against
(B) across
(C) through

(D) by

B2. wmetel wRmncia gz Bieby Fie
/{'S\] 08
(B) Android
(C) Windows
(D) Linux

WS (Apple) FSHE! aTqifes famg F a7
(A) i0S

(B} Android

(C) Windows

(D) Linux

3. =%, W, e, At w2t W ael e
A e | $et, BT oo 75 | s, aem

| R wER A | Tl Sraea sive | e
RE @ Ay

(A) ==, wree, arg, e, Fom

(B) =g, T2, ﬁCﬁh“:.W‘L iz

(C) 5w, ars, wrea, Form, gz

(D) ==, Firat, Frzeeet, e, g
R T T, e e i 31 g, T
I FH H | T T DI TR B W
T ST FE) 9 1 TR 90 FH e ww
A
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